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B & 58 (m)

m=0.85SL = ( 1 - 3.000V = 100)= 26.8

m = SL = ( 1 - 2.000V = 100)= 28.6

DIEXD, BEATRE (m) = 28.6(N/mf) & L9, m = 28.6(N/mf)
KE A NEEW/C)

W/C =225 ~(28.6 + 10.6) X 100 = 57.397 (%) W/C= 57.0(%)
BALKE W) L ERE W= 137(kg/nt)
HAE A FE()

C=W = W/C X 100 = 137 = 57.0 X 100 = 240 (kg/nt) C= 240 (kg/nf)

Ve =C ~pc= 240 = 3.04 =  79(0Q /) Ve= 79(Q /nt)
HEMDHSEE (L /) UHERE V= 661(0/n)
HAHEM & (G)

Vg =V XFERFL+ 100 = 661 X 61.5 = 100 = 407(2/nf) Veg= 407(0 /mt)

Vgl = Vg X( 40 =( 40+ 35+ 25))= 163(Q/nt) Vgl=  163(Q /nf)

Vg2 = Vg X( 35 +( 40+ 35+ 25)= 142(Q/nf) Vg2=  142(0 /nf)

Vg3 = Vg — Vgl - Vg2 = 102(Q/nf) Vg3=  102(Q /nf)

Gl = Vgl X pgl = 163 X 2.72 = 443 (kg/nf) Gl= 443 (kg/nf)

G2 = Vg2 X pg2 = 142 X 2.72 = 386(kg/nt) G2= 386 (kg/nf)

G3 =Vg3 Xpgd3= 102 X 2.72 = 277(kg/nt) G3= 277 (kg/nf)
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S2 = Vs2 X ps2 = 166 X 2.55 = 423 (kg/nt) S2= 423 (kg/nt)
MER 3 (s/a)

s/a= Vs+ (Vs+Vg) X100 = 332 +( 332 + 407) X100 = 44.9 (%) s/a= 44.9(%)
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